
7 Accessories 

18 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

Model 
Gas Type to Convert to: 

Propane (G31) Nat. Gas (G20) 

G750-6 238009 238010 

Gas Conversion Kits 

 

 - UK Models Only: 

 

 

 

 

 

 

 

Castor Kit - Part No. 238007 

Item Description 

1 Castor 100mm PU M20 Stem Dual Brake 

2 Castor 100mm PU M20 Stem 

3 Screw M5 x5 Grub Cup STST 

4 Allen Key 2.5mm L Hex 

5 Hook Tension Spring 

6 Nut 3/16” Hex Pressed ZP 

7 Washer 3/16” x 1/2” x 1/32” Flat ZP 

Castor Kit 238007 includes the following parts:- 



8 Exploded Parts Diagrams  

19 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

Section  Page No. 

 

8.1 Gas Range Static Oven .......................................................................................................... 20 

 8.1.1 Oven Main Assembly ............................................................................................................................................. 20 

 8.1.2 Cooktop Open Burners .......................................................................................................................................... 21 

 8.1.3 Oven Gas Assembly .............................................................................................................................................. 22 

 8.1.4 Oven Racks /Tray / Door Assembly ....................................................................................................................... 23 

 



8 Exploded Part Diagrams 

20 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

8.1. Gas Range Static Oven 

8.1.1 Oven Main Assembly. 

Item Part No. Description *RPL 

1 237512 BACK PANEL 900mm D 
2 237501 SPLASHBACK 900mm D 
3 237536 POT STAND D 
4 237585 HOB FRONT WA D 
5 227960 BADGE BLUE SEAL D 
6 044214 PUSH-ON-FIX CLIPS D 
7 237522 SIDE PANEL LH D 
8 237523 SIDE PANEL RH D 
9 237991 LEG 150mm ADJ M20 FLUSH STUD D 

10 237995 LEG PLATE M20 BUSH D 
11 237533 SPILL TRAY C 

Recommended Parts  Level 

*RPL Number of Units In-Service  

B 5-10 

C 10-50 

A 1-5 

D 50+ 



8 Exploded Parts Diagrams  

21 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

8.1.2 Cooktop Open Burners. 

Item Part No. Description *RPL 

44 237534 KNOB OPEN BURNER  
45 237526K GAS VALVE KIT (c/w BY-PASS SCREWS)  

 237813 BY-PASS SCREW #51 (PROP GAS)  
 237814 BY-PASS SCREW #76 (NAT GAS)  

46 237763 OLIVE 8mm  
47 237809 NUT G1/4 x 8mm TUBE  
48 237531 BURNER FRONT SUPPLY PIPE  
49 237532 BURNER REAR SUPPLY PIPE  
50 237762 SCREW NUT 8mm OLIVE  
51 237530K JET HOLDER KIT (c/w INJECTORS)  
52 237598 INJECTOR 1.20mm (PROP GAS)  

 237599 INJECTOR 1.93mm (NAT GAS)  
53 237529 BURNER BASE  
54 237528 BURNER HEAD  
55 237500 BURNER MOUNTING RAIL  
56 237516K THERMOCOUPLE KIT c/w M8 NUT  
57 024573 THERMOCOUPLE NUT M8x1  

Recommended Parts  Level 

*RPL Number of Units In-Service  

B 5-10 

C 10-50 

A 1-5 

D 50+ 



8 Exploded Part Diagrams 

22 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

Item Part No. Description *RPL 

27 237993 IGNITION ELECTRODE  
28 237990 THERMOCOUPLE 1500mm M9x1 M8 THD SLEEVE  
29 238144 REGULATOR 3/4 RV48LM 6" NAT (NAT GAS)  
30 013473 HEX NIPPLE 3/4"BSP x 50mm GALV  
31 237811 NUT M16 x 10mm TUBE  
32 237812 OLIVE 10mm  
33 237499K THERMOSTAT KIT (c/w BY-PASS SCREWS)  
-- 237813 BY-PASS SCREW #51 (PROP GAS)  
-- 237814 BY-PASS SCREW #76 (NAT GAS)  
34 237698 PHIAL GUARD  
35 237535 KNOB G750 OVEN 130-270°C  
36 237498 MANIFOLD WA  
37 238036 FLEXTUBE 10mm OD x 1500  
38 237994 HT LEAD 1600mm RING TERMINAL  
39 227508 PIEZO IGNITOR M18  
40 026060 PRESSURE TEST POINT SCREW  
41 238006 INJECTOR HOLDER  
42 238003 INJECTOR OVEN BURNER 2.30mm (NAT GAS)  
-- 238004 INJECTOR OVEN BURNER 1.35mm (PROP GAS)  
43 237697 OVEN BURNER  

8.1.3 Oven Gas Assembly. 

Recommended Parts  Level 

*RPL Number of Units In-Service  

B 5-10 

C 10-50 

A 1-5 

D 50+ 



8 Exploded Parts Diagrams  

23 

Amendment 1 
© Moffat Ltd,  September 2014 Blue Seal Gas Range Static Oven 

Item Part No. Description *RPL 

12 237525 OVEN RACK  
13 237524 OVEN SIDE RACK  
14 237509 OVEN TRAY  
15 237699 OVEN SEAL  
16 237513 DOOR ASSY LH (c/w HANDLE)  
17 237518 DOOR ASSY RH (c/w HANDLE)  
18 227469 DOOR HANDLE  
19 237731 DOOR HINGE BRACKET TOP LH  
20 237732 DOOR HINGE BRACKET TOP RH  
21 237733 DOOR PIVOT ARM LH  
22 237734 DOOR PIVOT ARM RH  
23 237735 DOOR HINGE BRACKET BOTTOM LH (c/w BUSH)  
24 237736 DOOR HINGE BRACKET BOTTOM RH (c/w BUSH)  
25 235897 CABINET DOOR PIVOT BUSH  
26 237741 DOOR MAGNET  

8.1.4 Oven Racks / Tray / Door Assembly. 

Recommended Parts  Level 

*RPL Number of Units In-Service  

B 5-10 

C 10-50 

A 1-5 

D 50+ 


